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3. The zero limit test

PROBLEM 3.1. Prove that the following limits do not exist by using subsequences:
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PROBLEM 3.2. Prove that the following series diverge:
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Problem 9.1. Study the convergence of the following series:

(3) n—no 104'l

400 ]

s
II

o0 7 n oo n
53 (i)
HZO 6 10' 11205 10
1L, 3, 1000(1.055)" 2. 3210y
n=0

4. Geometric Series & the Zero Limit Test

PROBLEM 4.1. Prove that the following series diverge:
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PROBLEM 4.2. Study the convergence of the following series:
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PROBLEM 4.3. Calculate the rational numbers with the following (unless expressed
otherwise) decimal expansion:

(3) 0.1515151515. ...

(1) 0.111111.... (4) 0.1515151515. . .in base 6.
(2) 0.8888888...... (5) 0.111111... in base 2.
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